PP TRIGONOMETRIC RATIOS FIITJEE

KKP / MYP CEN TRE

REVISION-2

Single Correct Answer Type

10.

11.

12.

If a=cos2 and b =sin7, then

(A) a>0,b>0 (B)%<O (C) a>b (D) a<b
If 5<e<3—“, then —1—sme is equal 0
2 2 1+sin6
(A) seco—-tano (B) sec6+tan6 (C) tan6—secO (D) cosec6 —cot6

Which one of the following numbers is rational
(A) cos75° (B) sin75° (C) cos75°sin75° (D) cos75°sin15°

For a positive integer n, let f,(6) = (tan%}(1+ sec6)(1+sec 49)....(1+ sec 2”9) . Then which of the following

is correct?
T T T \/§ T
A) f,| —|=0 B) ;| — |=-1 C) fy| —|=— D) fo| —|=1
@ (55 ® (53] (&S o5
T Y .
The value of tan— +2tan—+ 4 is equal to
16 8
(A) tanﬁ (B) tanﬁ © tan7—n—4 (D) None of these
8 16 16

If A and B are two angles satisfying 0 < A,B <g and A+B= g then the minimum value of sec A + secB is

2 4 1
(A) — B) — (C) —= (D) None of these
3 3 3
If XsinO = ysin(9+ﬁj = zsin(9+ﬂj , then
3 3
(A) x+y+z=0 (B) xy+yz+zx=0 (C) xyz+x+y+z=1 (D) None of these

If 2sino.cosPsiny = sinBsin(o +7v), then coto,cotf and coty are in

(A) AP (B) G.P (C)H.P (D) None of these
If x+y+z=mn, tanxtanz =2 and tanytanz =18, then tan’z =

(A) 2 (B) 4 (C) 8 (D) 16

The value of 4sin? 0 —cos20 lies in the interval

(A) (-15) (B) [-15] (C) (—o0,-1)u(5,8) (D) None

The ratio of the least value of 2—cosx +sin? x is to its greatest value is

4 4 4
A) = B) — C) — D) None of these
(A) Z ( )11 ( )13 (D)
If x ___2sinb — then —1+smel—cose is equal to
1+cosO+sind’ 1+sin®
(A) x (B) 2x © 1 (D) 1+x
X
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13.

14.

15.

16.

17.

18.

19.

20.

sin® A-cos®A . SinA
SinA-cosA  \[1;tan?A

If Ais an obtuse angle, then is always equal to

(A1 (B) 2 €)3 (D) 4
Which of the following is correct?

(A) sinl°>sinl (B) sinl° <sinl (C) sinl1°=sinl (D) sinl°=ﬁsinl
The value of tan9° —tan27°—tan63°+tan81° is

(A) 1 (B) 2 (©)3 (D) 4

If sin@ and cos6 are the roots of the equation ax? —bx +c =0, then a, b and c satisfy the relation
(A) a2 +b?+2c=0 (B) a>-b?+2ac=0 (C) a®+c?+2ab=0(D) a>-b?-2ac=0

If f(x)=cos® x+sec®x, then

(A) f(x)<1 (B) f(x)=1 (C) 2<f(x)<1 (D) f(x)=2

The value of cos12°+co0s84° +co0s156°+c0s132° is

1 1 1
A 2 (B) 1 ©) -5 ®) 3

1
If for real values of x, cos0 = x+—, then
X

(A) 0 is an acute angle (B) 0 is aright angle
(C) 0 is an obtuse angle (D) no value of 0 is possible

27 47 8n 167
COS—COS—COS—COS— =
15 15 15

1 1 1 1
W 3 ®) 75 ©) 5 (0) =

Numerical based

27cosec®a +8sect a

21. If 10sin* o +15co0s* o = 6. tjem T =
22. If sin®+cosecO =2, then the value of sin'® 6 +cosec®0 is
23. If sinx+sin®x +sin®x =1, then cos® x —4cos* x + 8cos? x =
24. The value of sin®| = |+ cos® = |~ 1+ S sin?[ -~ |cos?| = | is equal to
49 49 4 49 49
25. The maximum value of cos® 0—6sin0cos0+3sin®0+2 ist, then [t] is ([.] stands for greatest integer)
KEY
B C 3. C D 5. B
. B . B 8. A 9. D 10. B
11. C 12. A 13. B 14. B 15. D
16. B 17. D 18. C 19. D 20. B
21. 25 22 2 23. 4 24. 0 25. 7
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